Money Problems

Look at the prices below and then answer the questions.
Pack of apples=£2.70, Pack of bananas 6=£1.50, Pack of 3 bagels
=66p, Flapjack=60p

1. Which is more expensive, 1 apple or 1 banana?

2. How much less does it cost per bagel than per banana?

How much change do you get from a £10 note after buying:

3. 1 pack of apples

4. 1 pack of bananas

. 3 packs of apples

. 2 flapjacks

>
6. 4 packs of bananas
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. How many flapjacks could you buy for £2?

9. What is the cost of providing a person with 1 apple, 1 banana, 1
bagel and 1 flapjack?

10. The packs of bagels are on a ‘buy 2, get 1 free’ offer. How much
does it cost to buy 6 packs of bagels with this offer?
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